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(1) tanz = —v/3 (2) 2sin’z =1

(3) cos?x=cosz (4) 1—sinxz =2cos?x
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1
(1) tanz=-——— (2)  4dcos?z=1
V3
(3) tan?z = tanx (4) 14 cosz = 2sin’
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(1) tanz = —v/3 (2) 2sin’z =1

< w—%ﬂ', %7’!’ < sinx:i%

< m:l,ir,—ﬂ',lﬂ'
4 " 4 4

(3) cos?x=cosz (4) 1 —sinx =2cos’x

& cos?z—cosz =0 & 1fsinx:2(1fsir12x)

< cosz(cosx—1)=0 & 2sin’z—sinz—1=0

< cosx=0,1
5K &
< :13:0,1,371' &
27 2
=4
=4
=

t=sine £ E, (—1Zt<1)

22 —t—1=0
2t+1)(t—-1)=0
__1
t= 2,1
N — —
sinz = 2,1
T 7 11
r=—, —mW, —T
2° 6 6
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(1)

(3)
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¢

tanx = —

1
V3

r=—m, —T

tan?x = tanx

tan?z —tanz =0

tanz (tanz — 1) =0

tanr =0, 1

(2)  4dcos?z=1

(4) 1+ cosx = 2sin’z

<
&

1+cosx:2(1—cos2x)

2cos’x+coszr—1=0

t=cosx B E, (—1<t<1)

A <
&

&

&

22+t —1=0
t+1)(2t—-1)=0
_ 1 1
t=-1,
1
:—1 —_
cosT 5
™ 5
33:?,71', Eﬂ'
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